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Algebra 2 Trig G

Review for 3" Quarter Cumulative

CHAPTER 8 REVIEW

9
1) Find the least common multiple of 8x*y® and 10x*y U[ OXL}

2) Simplify completely:
x*+2x-15 | %3\ (x +5)

X—3 %43
(w—gk

4) Slmpllfycom et 1@@

NG +4x+3

(XFD(XFY)
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6) Simplify completely
ab 8a3b5
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33\0
\\00\

8) Simplify completely:
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3) Simplify completely:

2X +12 2(%+b)
x* +16x+60 (X-\-(p)(,XHO)
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¥A10

5) Simplzify completely: < ){A
X+9 X +6X+5 /L
A A H)

x—4Y  x—4

7) Slmpllfy completely: 5 1
2x°y? | 15x%y 30%

By’ 16Xy 80 )4375

9) Simplify completely:
()1 2
=S ) X— 4 x —9x+20
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CHAPTER 9 REVIEW

1) Exponential Growth or Decay? 2) Exponential Growth or Decay?
1(3Y 1Y
= —| — :7 —_
=33 G 73] Dy

3) Using a calculator, write the equation of an exponential function that passes through the given

points. (1,2.4) (3,21.6) (4,64.8) - 9 <3>X

4) Using a calculator, write the equation of an exponential function that passes through the given

points. (0,20) (1,5) (2,1.25) Y _ 0,20 ( . 2§>X

5) Write the equation in exponential form: 6) Write the equation in logarithmic form:

Iog%32=—5 ,L—§' 2:(8)%
(%\ = 34 \oggél‘l’g

7) Rewrite using only | log 7 and log 3|
DO/67 +log 3 (

8) Rewrite Iogg using only| log 7 and log 3|

&\0033’\037&

9) Rewrite [log 49| using only | log 7 and log 3

og7 =21 7]

10) Solve for x: log, x+1log, 6 =log, 42 11) log, 2+log, 4+log, 3=1log, X
log lex = logyy > logs U = logs X

lox= 42

12) Solve for x: @.@: log, 49 13) Iog3x+®-@: log, 54
[oqg)&ﬁ\oqg"m log, Qx:locl3 S

XL:\{Q Ax = 51‘/
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14) Solve for x: log,15-log, x =log, 5 15) Solve forx log; (10x+25) =4
04, 5=10g,5 5= o 25
5 _
S . > (2s = 1o~ - Y= 190
I/X\ =5 (x>3 (L0D =\bx
16) Solve for x: log,(5x—7) =5 17) Evaluate: log, 325
35;5-;(_77 \06] 225
2"’ 3=0X~- - -
Ssv=5x  \ X222 oy b

18) Evaluate: log,,172 19) Solve f%sl
log 12 log 3°< log 3!

4 y
oy I @ (%42 log 57 Vog O

X+2=3%.173

20) Solve for x: 52"3 67
log 577> =leq bl

(22-3) o ’\o ]

x-3= -l ,
=5 bl ;X/Q'%\‘

21) You have $300 to invest. How long will it take you to earn $1,200 if you invest at a rate of

kt
6% interest compounded 6 times ayear’) Recall: A=P 1+£

| 0D = 3DD(\+17> 139.3214 = (pt

1= (120 1520 <t
109 4=t - log | 0] yess

22) In 1985, the population of Trigtown was 750 people. By 2005, the population was 6,000
people. What is the rate of growth over this 20 year period?

Recall: y=ab* (Round you b value to the nearest hundredth)

00D 7 (o)

Q?Qﬂ"

23) There are 35 bacteria initially. The number of bacteria doubles every minute. How long
will it take to have 86,000 bacteria? Recall y=ab”

1%5}72?573 —35 el @: 1.2 v\/\\\/\\)\-\ts\

log aus210a = X leg -
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CHAPTER 13 REVEW

Rewrite the radian measure in degrees, and the degree measure in radians.

) a) %"L%:(llobi 2) b 1200"17’:‘@"
3

%

c) 5—”'17?29:(3960) d). s, T | LW
4 I 1 %D L‘.

Find the exact value of each. Draw the triangle. (NO DECIMAL ANSWERS)

3) sin (210°) | —! 4) tan (120°) \Q_
Sin ° - o
- } _ _
i 2 - ’@
G

W

& | G R\ ”
1 23 y >~
o) z
\ @
)5
&
5in (225) 77
5) cos (-30°) E 6) sc. (225°) =

& 2 & =
e} //4 G

B \E 7) cot (%,ﬁj

Hon(-139)7 |
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7) Find x.

§

X

Ll =3 S,éj

41°

8) Find x.

s

25

_ A [9.3 \ 2
’\W/\Xf% —ton (7/?35 X

=30

off

9) The angle of elevation from a point on the ground 71 feet away from a building to the top of
the building is 37°. What is the height of the building? Draw a picture to illustrate the problem.

)

/\‘0M37:_>,<_

R 1
b
\1 ¥= 5390 M
37°
AN
For #10-11, give the exact value for the given inverse trig functions. (Use your calculator! ©)

V3

2

o= (2] (o0 e (3) (135



